
Page 1 

ALICANTE II RECT COFFEE TABLE

SKU - 619687 

 2022.09.13



A

B

Table Top

Leg

1

H-1

H-2

H-3

Allen Bolt (M6x15)mm

Spring Washer

Flat Washer (M6x1)mm

Allen Key

12

12

12

1

Page 2

2

T-1



Page 3

World Market store

or call our customer service call center at call 1-877-967-5362.



 

H-1

H-2

H-3

Allen Bolt (M6x15)mm

Spring Washer

Flat Washer (M6x1)mm

Allen Key

x12

x12

x12

T-1 x1

H-1

H-3

T-1

 Page 4

Step 1

H-2 Clockwise

 
   

x4

A

B

B

Position Table Top (A) and Legs (B) as shown. Secure using Bolts (H-1), Spring Washers (H-2) and 

Flat  Washers (H-3) with Allen Key (T-1), stacking the hardware in the order as shown.

Engage all Bolts (H-1) first before fully tightening.



 Page 5

Leveler Feet Cap.

Step 2

Turn the table upright.

Ensure all bolts have been fully tightened.  

use. 

NOTE: Levelers have been pre-installed for height adjustment to achieve stability only   AFTER       the 

unit is moved to the desired location. DO NOT     drag the unit as this may damage the levelers. 

Ensure all bolts are fully tightened every 3 months to ensure stability.



 As with any wood, the color may fade if left in direct sunlight or inclument weather. Minor

cracking may occur with age. These are naturally occurring features of wood and do not affect

product performance.

We recommend using our Outdoor Wood Furniture Finish sold separately to help preserve and protect the

wood and finish. 

CAUTION:

  Page 6



Page 7


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7



